USN BEE302

2 M Marks , L: Bloom’s level, C: Co

4autcomes

Module —

Q1

a. | Use source mobility of sources transformation to reduce the given network, | 6 | L3 | CO1
shown in Fig Q1(a) into a smgle voltage source in series w1fh ‘a resistor
between points a b. by

Sn-

he |6 | L3 | CO1

Fig Ql(b)’_“}

c..| Use Mesh current analysis to find the power dissipated in the 80Q resistor | 8 | L3 | CO1
of circuit shown in Fig Q1(c).

o

Fig Q1(c)
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OR o
Q.2 Determine the circuit i, iz, and i3 in the circuit of Fig Q2(a), using mesh L3 | CO1
current method.
L3 | CO2
Fig Q2(b)
Define Duality. Draw the dual of the network shown in Fig Q2(c). L3 | CO1
(0
" FigQ2(©)
Module & 2
State and prove sui ‘er posmon theorern o L1 | CO2
L3 | CO2

the Thevenm s theorem.

Sar pa
\ \AA
3 K
O~ N R B N
Fig Q3(b) o

2 0of 5
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L3 | CO2
FigQ3()
=+ OR Lo
Q4 State and explain maximum “power transfer theorem for/ DC circuit| 6 | L1 | CO2
(Resistive Load). i
Find the current through 4 resistor using super; p081t10n theorem for the | 8 | L3 | CO2
circuit shown in Fig Q4(b).
v
| .
P a4 [4~
Fig Q4(b)
Determine the value ©0f R for the circuit shown in F1g Q4(c) and also 6 | L3 | CO2
determine the maximum-power transfer. :
Fig Q4(c)
Module -3
QS5 Explain with circuit diagram how-to determine of resonant frequency, | 10 | L2 | CO2
bandwidth and Q of a series circuit.
For the network elements R, L.and C, write the equivalent circuit 4 | L2|CO4
A + t = 0"[initial condition}.
A +t=o0[find condltlon]
A series RLC circuit has R = 4Q, L = 1mH an C = 10pF, calculate | 6 | L3

Q-factor, bandwidth, resonant frequency and half frequencies.

Cco2
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OR

Q.6

In the network shown in Fig Q6(a), the switch K is closed at t ~ O w1th the
2-

capacitor uncharged. Find the values for i, di/dt and gt—z at t=0".

‘ >§ ﬁ"l(mw-»
Lov‘it»r o) TP CEIpF

F1g 96(5) -

L3

CO4

s 2 P i /
Determine j and 3—2— att= 0"*“’iwhéii the switch K is moved from position

1 to 2 at t = 0 for the Fig Q6(b) shown steady state havmg reached before

switching.
| -
ooV =

Pz IH

Fig Q6(b)

L3

CO4

Find the value of Ry, for the circuit shown in Fig Q6(c)

Fig Q6(c)

L3

coO

Module -4

Q.7

. State and prove initial and final Value theorem.

10

L1

COs

7 | Find the laplace! transform of the followmg

1) sinwt 11) coswt i) € smwt iv) €™ coswt.

10

L2

CO5

OR

Q38

Obtain the Laplace transform 6f i) u(t) ii) r(t) iii) 8(t).

10

L2

COs5

Apply the initial valug and“find and final valve theorem respectively to the
S-domain equation of I;(s)t of Ix(s) given

. 6.67(s+250) ) 6.67
i) = 2OIKHS ) (6=
D L) S(S¥T66.7) i) L) = 667

10

L2

CO5
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Module — 5

Q9

Determine the z-parameter of y-parameter for the circuit ‘Shown =
Fig Q9(a).

(A 3

Fig Q9(a)"

10

L3

CO3

A 3¢ supply with line voltage 0f250y has a unbalanced deltauycor:mected
load as shown in Fig Q9(b). ‘I?\été;mfme line currents active“and reactive
power for phase sequence ABC, ™)

¢

Fig Q9(b)

10

L3

CO3

OR

Q.10

Find the transmission parameters for the circuit shown/inFig Q10(a)  «_
l '/L’ & \A—— y A

Fig 010(2

10

L3

CO3

3¢, 4-wire 208V CBA system,as shown in Fig Q10(b) has a star connected
load with Z, = 5(0° Q, Zs= [30° Qand Z. = 10 [-60° Q. Obtain the phase
current, line currents and current through neru’trayl wire.

Fig Q 10(b)

10

L3

CO3

% K ko Kk
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